
Properties of implication

1 P is true and (PEQ) is true , then Q is true
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To prove knowing Pistrue, prove PEQ) is true Feetproof
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To prove (P=Q) is true, prove (TQETP) is true instead contrapositive
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In general, to prove (PR) is true , ⑳eis
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prove that whenever P is true, & is also true

Note : We often omit "is true" when we say "Pimplies &"

3 (TP=) False) , then Pistrue
To prove P is true, prove that IP implies something False⑫contradiction
4) (PQ) is true and (QR) is true,
then (PER) is true

⑳Chain your implications transitivity?














